
Designed For Industrial Use 

Monstar Order Picker Series Assembly Instructions 

STEP ONE 

STEP TWO 

Check Contents of your parcel. 
 1 x Backleg 
 1 x Front Stile 
 1 x Bottom Rail 
 2 x Platform braces 
 1 x Platform 
 2 x Top Handrail 
 2 x Rear handrail Post 
 1 x Rear Handrail 
 Hardware pack 
(See right) 

Fit Backleg to Platform 
Align hole in the Platform side and hole in the backleg. 
Insert M10x60 bolt and D25 washer through platform side. 
Fit Square Washer and sleeve between platform side rail and backleg
Fit D25 washer and nyloc nut to bolt. 
Do not tighten at this step 
Complete other side 



STEP
THREE 

STEP FOUR Fit Bottom Rail 
With Front Stile and Back Leg in position align holes of bottom rail 
and back leg. 
Insert M6x60 bolt and D18 washer through bottom rail and backleg 
Fit D18 Washer and Nyloc nut to bolt 
Align holes in Bottom Rail and Front Stile 
Insert M6x20 bolt and D18 washer through bottom rail and Front Stile
Fit D18 Washer and Nyloc nut to bolt 
Complete other side 

Fit Front Stile to Platform 
Align holes in the Platform side and hole in Front Stile 
Insert M6 x 20 bolt and D18 washer through Platform side and Front Stile
(Do not do the Front Hole this is done at a later step) 
Fit D12 washer and Nyloc Nut—Do not tighten at this step 
Complete other side 



STEP SIX 

STEP FIVE 

Firmly Tighten all nuts and bolts from earlier steps 

Fit Platform Brace Connection 
Align Platform brace with holes in Platform Side and Front Stile

Insert M6x20 bolt and D18 washer through Brace and Platform Side

Fit D18 Washer and Nyloc to bolt 
Insert M6x20 bolt and D18 washer through Brace and Front Stile 
Fit Nyloc nut to bolt 
Complete other side 



STEP SEVEN Fit Rear Handrail and Rear Handrail posts 
Align holes in the Platform side, Rear Handrail post and Rear Handrail 
Ensure kickplate is positioned at rear of platform 
Insert M6x70 bolt and D18 washer through Platform Side, Rear Handrail post
and Rear Handrail 
Fit D18 Washer any Nyloc nut 
Insert M6x65 bolt and D18 washer through rear handrail post and rear hand-
rail 
Fit D18 washer and nyloc nut, 
Insert M6x20 bolt and D18 washer through rear hand rail post and platform Fit
D18 washer and Nyloc Nut to Bolt 
Complete other side 
Firmly tighten all bolts and nyloc nuts 



STEP EIGHT Fit Top Handrail 
Align Top Handrail with holes in rear handrail post, platform side and Front
Stile 
Insert M6x45 bolt and D18 washer through rear handrail post and top hand-
rail (if you are unhappy with the tightness of the fit a second hole can be
drilled to put an extra bolt through) 
Fit D18 washer and Nyloc nut to bolt 
Insert M6x25 bolt and D18 washer through Top Handrail, Platform Side and
Front Stile 
Fit D12 Washer and Nyloc Nut to bolt 
(The following step is not required on 2 and 3 step units) 
Insert M6x20 bolt and D18 Washer through Top Handrail and Front Stile 
Fit D18 Washer and Nyloc Nut to Bolt 
Complete other side 
Firmly tighten all nuts and bolts 


